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™
0lon
=
118
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M S0
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3 M=EL

Sl MSAE U ALE0HE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FHMSISAME L 12,654,719 7,268,185 5,386,534
= 31,890
Xl 1,450,000
J| 120,852
< 1,103,047
s 9,948,930
HEXsE £ HSALE &5 2 4,952,606 3,027,955 1,924,651
J| 120,852
< 253,047
s 4,578,707
Hsds & AZ=0MAHE 4,952,606 3,027,955 1,924,651
J| 120,852
< 253,047
[ia 4,578,707
Hsds 2 dsta X 825,911 663,753 162, 158
101 @124l 2,000 0 2,000
03 RIAHA2Z2RHE > 1,200 0 1,200
O S&2J Ms3&J 3y get=2 7
200,000 6 1,200
04 DIt 22 HEE =+ 800 0 800
O sS&2J Ms3&J 3y get=2 7
200,000& 44 800
201 2et24d] 257,481 240,653 16,828
01 At 2teltl 87,400 64,800 22,600
O SHAEXN=ZHE | 222 MH
2,500,000 x2& *23| 10,000
O AEUa ANAE Sttt 7Y
200,000& x10 x53] 10,000
O s8I M=s3dJ 3¢ get=2 7
200,000& x84 1,600
O Msts g2F8 =&l
7,000 x12H x50 4,200
O 24z d=Us J#HE &I (Y, X
g) 500,000& +x7H & J1 & »23| 7,000
O 259 Mew 2o T2y 29
15,000, 0002 14! 15,000
O HXEVEY 28X X2
1,000,000& *103] 10,000
O dXedd 03I 208 299
1,000,000& =53l 5,000
O &gxa 33 ¢ 100,000& »2& »23| 400
O *&s=30MsdH F2H| 24,200
— =32 UMSHEH =2l 50,0003 *366L 18,300
— ==2UNSHdEH LAH 50,0002 118 5,900
02 =224l 20,081 25,853 AND,TT2
O d3xgd |sX2el 12,013




FN: 2HMSTEAS A
B HSNE QL ASAL 25 29
S MSIE Y AEE0IY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— SIS SI USIHA 30,000 = 1CH 30
— SgAhsX XS Al 70,0003 = 1CH 70
— sEsSk B8R 600,000 = 1CH 600
- SEiAsi 2Ega 1,000, 000& = 1CH 1,000
- Sk AL =8 40,0003 =204 80
- NSk sFUES)
1,323 x1502| A x12& 2,382
- NSk SFUH(SE)
1,323& *4002| A x12& 6,351
- g A28 ¥ =2l 750,000& »2H 1,500
O 2AZ0U3E HLE 25 PA(LUSS)
9223 2002 & «50H *53] 4,610
O dX&EH HER: 2Y(AUER)
9223 2502 & «50H »3& 3,458
03 A2 S HI 150,000 150,000 0
O d=3te 2A3Us Wzl 2l
150,000, 000& 14 150,000
202 04l 1,680 1,600 80
01 = LH 4 di 1,680 1,600 80
2SO bl 1,680
— dEgEMEHSE FItol
80,000 401 x3 960
— Mg ZMAMSUE &K
80,000 »301 %3 720
203 YR =2l 1,000 1,000 0
03 AIMZ=XH R =AY 1,000 1,000 0
O d=d=sla & SHEXNEH RIS
1,000, 000& 14 1,000
307 glz2tol & 528,500 405,500 123,000
02 It M AHE L 30,000 30,000 0
O sAHdEXEd |f1&s N
10,000, 000& 13| 10,000
O 2&aUs |KX1&s XF 20,000,000 *14) 20,000
03 IUHHHEHE2LHIEES 54,000 57,000 A 3,000
O ZHed=3s 24l 10,000, 000& * 14! 10,000
O SgHd=s3 2934l 14,000,000 * 14! 14,000
O HM=s3 MR3E 23l 1,000,000& 1228 12,000
O ZHeH=s MR 2l
1,500,000& 128 18,000
04 DIZHHALALSE E X 444,500 318,500 126,000
O Y&t (==21) sl Ml 55,000
— HM193 &ZH ==l 8,000,000& x14! 8,000
— H203 L2261 AOIE=US
6,000,000& » 14 6,000




EAX: 2UHANSESAE A
Hz: HEENE L HEAE &5 29
o9l MSNE L AERX0INE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— Ml133 ©@Z28f == 03l 5,000,000 1Al 5,000
— N133 Y Z&H MEM= HECEHI
9,000,000 =14l 9,000
— H73 EZ2H s=€Xd9 =203
7,000,000 =14l 7,000
— M73 ZZ2HH ®EASIQ0F2TH3F
7,000,000 =14l 7,000
— H213 & =. 5.0 dEEHHAZUS
8,000,000 =14l 8,000
— X393 EZHH BHCHE 5,000,000 «1A! 5,000
O dEXE HOe =g ds
3,000,000 x4== 12,000
O ssols 29X 1,500,000 x10& = 15,000
O 20168 = XIMEOHC H=UI =t
1,000,000 x 14! 1,000
O T 0l M=z 28 B2
5,000,000& =14l 5,000
O &HofegEs S04 Msls &2
250,000 x203] 5,000
O detg AIZEMMsUE &It
50,000€ 1009/ 5,000
O M3z d=2HOMAMSUHI ZIt
80,000 x250! 2,000
O HOMe M=sU3 HgEs=2 44 &I}
500,000 %83 4,000
O H16g dMetgE =0t M=sal &It
50,000 1009/ 5,000
O &=2 EXHO OI2rEWE & o
75,000 200! 1,500
O dAYE MExswnas 22 5,000,000 «14] 5,000
O detg MEis 3AUsigds &8
5,000,000 =14l 5,000
O d=2HHE AMHOHZ2HE XN
1,500,000& x2&5 =2 3,000
O s39 HMsegsiE 1,500,000 x10&! 15,000
O His53 dMetg s Hsis &8 X
140,000,000 =14l 140,000
O Hb553 dMetde MEds sd8ds &t
NEE] 40,000,000 =14l 40,000
O HM243 detgde HOMMEUs &
50,000,000 = 14! 50,000
O H113 dMetge HsaAMES=sis &0
55,000 «100YH »2 11,000
O H28z Metgd =0l MEHs Usd &8
65,000,000 x 14! 65,000
405 XHAHF S HI 35,250 15,000 20,250
01 XAt 2 ZF S| 35,250 15,000 20,250




FA: 2HMSEASAIYE A
HH: URIE L ASAL 25 29
o9l MSNE L AERX0INE (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O dlesdeld 2228 79
1,500,000 108 15,000
O &z »X&8 &0 85+
1,350,000& = 15CH 20,250
AE=2N 02A 33,857 29,710 4,147
J| 23,700
< 3,047
s 7,110
307 glz2tol & 33,857 29,710 4,147
J| 23,700
< 3,047
[ia 7,110
02 IZtE M AHE L 33,857 29,710 4,147
O AEZ=2H 0ISAHAZ 33,857,000& 33,857
J| 23,700
< 3,047
s 7,110
MEHE XANEX &5 X2 (XHA) 16,320 19,710 A 3,390
201 L2l 2,880 0 2,880
01 At 2t 2l 2,880 0 2,880
O dEXNsSXNEX 22A8 M7
30,0003 821 «12& 2,880
301 L2 LS 13,440 19,710 N6,270
11IIEBEAS 13,440 19,710 26,270
O MaHENEX s+
20,0003 8017 128 13,440
FOelds NEX &5 K2 3,000 3,000 0
201 L2l 3,000 0 3,000
01 At 22l 3,000 0 3,000
O Zeds 5249 M7 (1382)
3,000,000& =14l 3,000
MEHSANEX B8SKNB(EX) 194,304 194,304 0
J| 97,152
s 97,152
307 21201 A 194,304 194,304 0
J| 97,152
[ia 97,152
02 IZtE M AHE X 194,304 194,304 0
O gt & 028 85 EMSAEX X
2,024,000 x8H 123 194,304
J| 97,152
s 97,152
g=d A 232 29 955,014 955,014 0
201 Let24d] 31,200 31,200 0




M S0
3 M
@2 Msd

9 ATEOHE CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 27,200 27,200 0
O ass ¢ 500,000 16 *23| 16,000
O 22s&Hl #¢ 10,000
— HA A& 10,000,000 » 1Al 10,000
O &332 MNE 50,0002 «2J) El x12& 1,200
02 3524t 4,000 4,000 0
O AAAW HAGIHI(Sa, A
2,000,000& *2)H & 13| 4,000
301 et A= 923,814 923,814 0
VU= - 228242 923,814 923,814 0
O 20(de) 623,000
- 4= 110,000
AZ 55,000,000 x2H 110,000
— 32X 40,000
B= 40,000,000& *1H 40,000
- = 473,000
== 60,000,000 *1H 60,000
A2 42,000,000 4 168,000
B= 35,000,000 x7H 245,000
O ga&3 13,000,000 » 1Al 13,000
O dx=H2%Z 45,000,000& *2JH & 90,000
O &l 3,000, 000& 201 & 53] 30,000
O d=20U3 =&Y 61,000 15 x5 73| 32,025
O =4 2494 1,000,000& *2 &l x12& 24,000
O dX=z&dl 61,0003 15 x20 23] 36,600
O 2%z SHH(EE2E)
300,000 *x10H *73| 21,000
O 2sd+ 4028 RE= 54,189
— HAEE 155,207 & 15 x 128 *50% 13,969
- =0AHZ 291,420& *15Y 128 *50% 26,228
- 11888 728,750 x12& 8,745
— AMIHEE 583,000, 000& *0.9% 5,247
HX&EHA AEB] =2 29 60,000 60,000 0
307 212t0| & 60,000 60,000 0
04 QIZHSHALAIE B2 X 60,000 60,000 0
O 53, 24,d&d, 817,205
60,000,000 =14 60,000
MY ME W= XS 10,200 95,464 N B5,264
201 Bt A | 5,400 36,010 A 30,610
01 At 2+2/H 5,400 27,490 22,090
O YA AMSA DRIEH £ ¥ HEX
2 150, 000& *2CH x6 & 1,800

_5_




FN: 2HMSTEAS A
M H=ds 4 MSAME &5 29
2 MsdE Y AXZX0HE (&)
= — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O &dgHdE ZHIIIEH AREF 7
100,000& 6 & 600
O &gHA ZEHoI&e E/\UI axz
220,000 x1CH+6E 1,320
O &dgHA ZHIIEY RFE S|
7,000& »4H +60 1,680
202 O4dl 4,800 3,000 1,800
01 = LH 4 Hi 4,800 3,000 1,800
O dEHMAE EHI=e 2 =& oyl
20,0003 »4H 9 x4 2,880
O dEHMAE ZHolele 22 SEH0H
80,0003 *4H 3«23 1,920
GEZE) d=2=/mAE=S HAEE 40,000 50,000 A 10,000
307 21201 A 40,000 50,000 210,000
04 DIZHHALALSE E X 40,000 50,000 A 10,000
O 2016 EE3EJ| d=2=7HAEEY Nz
40,000,000& * 14| 40,000
TEIEI w24E EFRUE 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 QIZFHALAIH B = 50,000 0 50,000
O Hesl YE23E)| sL2EFIU3
50,000,000 =14 50,000
d=adSHMESE HeHAd3 3 17,000 0 17,000
307 21201 A 17,000 0 17,000
04 QIZFHALAIH B = 17,000 0 17,000
O 198 d=8UHHHNSEUHSH Y=
17,000, 0002 14! 17,000
FHH d=x=Ssw 203 80,000 0 80,000
307 glz2tol & 80,000 0 80,000
04 QIZFHALAIH E = 80,000 0 80,000
O HM493] F=AHH d=2=Sstw AU
80,000,000 =14l 80,000
HEHH MEMSH AU 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
O HM2ral ozl MHSHHAUE Y H6s
GE3EJ| d=0 A7 U= 30,000
30,000,000& » 14!
AED S HIMMOIE KBSEIdl=2 U3l 150,000 150,000 0
307 glz2tol & 150,000 150,000 0
04 QIZFHALAIH E = 150,000 150,000 0




EAX: 2UHANSESAE A
B HSNE QL ASAL 25 29
e H=sdE L AZX0AE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O Y¥D s HIHIIE H418 KBSE =2dl =
2 JH= 150,000,000 = 14! 150,000
N=2EEgAd dsEUS 130,000 0 130,000
307 2Iz2t0| A 130,000 0 130,000
04 QIZFH AL AR 2 & 130,000 0 130,000
O H103 &A= ds2dssad=dg
130,000, 000& x 14! 130,000
MZAAHAC 3 35,000 0 35,000
307 212t0| & 35,000 0 35,000
04 CIZ2tSHALALS B X 35,000 0 35,000
O 2016 8= SHAIAZ=U3
35,000,000& = 14! 35,000
S XA A =28 XI0tCH S 8,000 8,000 0
307 QI2t0| & 8,000 8,000 0
04 CIZ2tSHAPALS B = 8,000 8,000 0
O HM73 Z=XIAHH A=2EX0tHE JH=E
8,000,000 =14l 8,000
SZE2Z2E)| MNABHRUS 12,000 12,000 0
307 gizto| A 12,000 12,000 0
04 CIZ2tSHALALS B = 12,000 12,000 0
O H173 222D XA 3 JH =
12,000,000 =1 Al 12,000
d=2 =1 2= 3 55,000 55,000 0
307 2iz2tol & 55,000 55,000 0
04 DIZHEHALAFRI B X 55,000 55,000 0
O H27g SstdsAZEH2AI] =2 2U5S
2103 55,000,000 = 14! 55,000
St=2stMA2H5E HUS & 3 35,000 0 35,000
307 2Iz2t0| & 35,000 0 35,000
04 QIZFH AL AR 2 & 35,000 0 35,000
O HM33 AgAW U X183 SMAHAW 2[HHE
CHal 35,000,000& = 14! 35,000
GEZ2E)| dIZ2MEMNE S2US 15,000 15,000 0
307 212t0| ™ 15,000 15,000 0]
04 SIZ2ISHAAISHE E X 15,000 15,000 0
O M6 HEZ2E)| d=2MEN=s ERUS M
S| 15,000, 000& » 1Al 15,000
Moo &) MEGMEdsERUE 20,000 20,000 0
307 QI2t0| & 20,000 20,000 0
04 CIZ2tSHAPALS B = 20,000 20,000 0




EAX: 2UHANSESAE A
Hz: HEENE L HEAE &5 29
o9l MSNE L AERX0INE (B9 ®R)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O Hi43 HMetd=olsg Q&I dYMENs =
T3 0= 20,000,000 x 14! 20,000
MEnNZ)| @Y FAUF 40,000 0 40,000
307 2Iz2t0| A 40,000 0 40,000
04 SIZ2HSHAAISH E & 40,000 0 40,000
O HM263 ddns2)| g s&4U3
40,000,000 *14! 40,000
HNEASS &) MENSZE U 7,000 7,000 0]
307 212t0| & 7,000 7,000 0
04 DIZHH A AL 2 X 7,000 7,000 0
O H183 MEAHESSAD| MESHs U3
N = 7,000,000 =14l 7,000
HNEASS &) MEHNS=EUS 15,000 0 15,000
307 QI2t0| & 15,000 0 15,000
04 CIZ2tSHAPALS B = 15,000 0 15,000
O H223 dEAHESFE)| MESH=s=28W3
15,000,000 « 1Al 15,000
S XA 1% 3 10,000 0 10,000
307 gizto| A 10,000 0 10,000
04 CIZ2tSHALALS B = 10,000 0 10,000
O H43 NHHL XA SIS
10,000,000 =1 Al 10,000
ZOIMEHSIEHU AIZUHE =3 40,000 0 40,000
307 2iz2tol & 40,000 0 40,000
04 QIZ2tSHAFALS B X 40,000 0 40,000
O H198 M=2dEs &) =AU =2
3| 40,000,000 =14l 40,000
YESE) M=2RAE 2 EH 320U 200,000 0 200,000
307 2Iz2t0| & 200,000 0 200,000
04 DIZFSHAIAIRI 2 = 200,000 0 200,000
O 2016 YEZ2E)D| d=284E =228 =31
CHal 200,000,000 * 1Al 200,000
st=r 83 &I 8257203 40,000 0 40,000
307 212t0| ™ 40,000 0 40,000
04 SIZ2ISHAAISHE E X 40,000 0 40,000
O H223 U= d) MEHE =2UE
40,000,000 =14l 40,000
SFMAIXSS=R| 15,000 0 15,000
307 QI2t0| & 15,000 0 15,000
04 CIZ2tSHAPALS B = 15,000 0 15,000




FN: 2HMSTEAS A
M NRIE L ASANL 2HE 24
Sl HSHE Y AEE0IY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 20168 &g stMAZ=x RtEH Nz
15,000, 000& 14! 15,000
CHstel 2 CH 2l 100,000 0 100,000
307 gl2tol & 100,000 0 100,000
04 DIZHHALALSE E X 100,000 0 100,000
O 2016 KM =2t =0t = o & CH &l
100,000, 000& * 14 100,000
SHES2Z 2T A) d=gd SDHALdSAH 80,000 0 80,000
307 21201 A 80,000 0 80,000
04 QIZFHALAIR B & 80,000 0 80,000
O H443 ZsMs2ZRI 2 d=34HSD
HAMdRHS 80,000,000& =14 80,000
d= =5 I3 40,000 0 40,000
307 21201 A 40,000 0 40,000
04 QIZFHALAIH B = 40,000 0 40,000
O M7z ¥=3x=sZ2 W3 40,000,000 14! 40,000
w=sZJ 203 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
O M173 detd T us2)| StMACUF
10,000, 000& * 14 10,000
SIS HA US| AD| MIEHAZS 200,000 0 200,000
307 21201 A 200,000 0 200,000
04 QIZFHALAIH B & 200,000 0 200,000
O HM392 st=UsfH M &I 8= HEE O
3 200,000,000 =14 200,000
HetE S XIALHH BHA S S MU S 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
O HM102 Meted XA EHA =S MU S
30,000,000 » 14 30,000
dEHE S MA 1,350,000 0 1,350,000
< 250,000
e 1,100,000
307 glz2+ol & 1,350,000 0 1,350,000
< 250,000
s 1,100,000
04 QIZFHALAIH E = 1,350,000 0 1,350,000
O M558 MetdEMSHal O =
1,350,000, 000& 14 1,350,000
< 250,000
i 1,100,000
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FA: 2HMSEASAIYE A
FM: HESALE =5 & 2el
S MSALE =25 2 S22
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
O ot S0tel 2sI17 X SA
10,000, 000& * 14! 10,000
O statd Gtotel 2SI+ E XIS A
10,000, 000& 14! 10,000
O 84t el 23I|7 X3 A
10,000, 000& 14! 10,000
O 84 AlSel 23217 &X3AM
10,000, 000& 14! 10,000
O 84 =52 2SII7 EX3A
10,000, 000& 14! 10,000
O &XY el 217 EX3A
10,000, 000& 14! 10,000
O &XY dJjel 2sII7 EXSA
10,000, 000& 14! 10,000
O &XY JEel 217 EX3A
10,000, 000& * 14! 10,000
O S8Y 82 2317 EX3A
10,000, 000& * 14! 10,000
O S8Y Bdel 2317 EX3A
10,000, 000& 14! 10,000
O Sgpt a2 2517 &S
10,000, 000& 14! 10,000
O =ge g482 257172 SXBA
10,000, 000& 14 10,000
O &Y tnel 2SII7 EX3A
10,000, 000& * 14 10,000
O s&Y Jote] 2SII7 EXSA
10,000, 000& 14 10,000
O =&Y stsel 2317 EX3A
10,000, 000& * 14 10,000
O A=Y Gitel 2SII7 X SA
10,000, 000& 14! 10,000
O A=Y ddel 2SII7 EX3A
10,000, 000& * 14 10,000
O OtatH 3t 2SI+ EXISA
10,000, 000& * 14 10,000
O DR SHg 23017 X3 A
10,000, 000& * 14 10,000
O Dot kel 2317 X3 AM
10,000, 000& * 14 10,000
O ¢ SHe 2317 EX3AM
10,000, 000& * 14 10,000
O ¢ S35 2317 EX3AM
10,000, 000& * 14 10,000
O g4t Fsel 2SII7 EXSA
10,000, 000& * 14 10,000
O &0l el 23217 EX3A
10,000, 000& * 14! 10,000
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O &Y rEBe 248
2,700& *1,250kw*4 3| 13,500
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O ZSAIAS A E 253 *400,000MJ*6 2 60,000
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O & gd8) gz
1,323 x1102I EH «12& 1,747
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O ds)| et EH A= 400,000& x13] 400
O 43I A& & |RX2+  5,000,000& *13] 5,000
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O d=x 32 849 13,000& x 104 E »23| 2,704
O &83x 25 B 15,000& x20E *23| 600
O EDSHiEB KAl
3,000,000& x23| 6,000
Otz SELM A5 1,400, 000& *53| 7,000
O tl=sla FA8A (4, 0t8HDI)
8,000,000& »23l 16,000
O dEINE =22 100,000& = 12& 1,200
O 223 & & sX2cldl
1,000, 0002 »3CH 3,000
O dte JIAE8 =X 2l
3,000,000 » 14! 3,000
O 2e38stx 82 sXl2celdl 800,000 204 1,600
O Qs AAY KX 22yl
2,000,000& »14! 2,000
O UsHA HsHd SeLd sX2eldl
4,500,000& %14 4,500
O tl=3sl2 ZAltoet d21 &4
50,0003 +62CH*13] 3,100
O =32 =82 | 22|
200,000 =244 4,800
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2N

HSHEAE A
=

& Oll
M 2oIIBAIE 2 2 2e
& 23AE 7R 22 (&)
SN EE B (BH) - HRAY - BES 0l &F 24 il Hl D= 2t
O Z2Zd A AMEE FANE*
2,400,000& x13] 2,400
O FXZHAIAE SXE= 88,585,200 «10% 8,859
O F=x& SJ=&d sX el 50,0002 400 2,000
O FX&E =82 SX2el 200,000 =180 3,600
O F=X& HII£H RXNE= 5,000,000 14! 5,000
O F=X& ASANEE FANE=
15,000, 000& 14 15,000
HE2AZIH (2UHMSEEAMS L) 94,696 89,920 4,776
JI2dH(RUMSEEMG L) 94,696 89,920 4,776
J2dul (2UHMSEEAE L) 21,880 21,880 0
201 Let2d] 17,000 17,000 0
01 At 22l 17,000 17,000 0
O FNSGHI(EY) 17,000, 000& 17,000
203 &2 =&l 4,880 4,880 0
02 33 H 2= 680 680 0
O SHMESIEAY A (HA172)
40,000& x174H 680
04 EANSSIHRF=EHI 4,200 4,200 0
O RN2YYRETH (ZR1721)
350,000& 122 4,200
JI2dU(AE=0IAHE) 16,608 18,120 21,512
201 Let24d] 6,048 5,880 168
01 At 2teltl 6,048 5,880 168
O AZX0HEEE dRFE S
6,048,000 6,048
202 odl 10,560 12,240 A 1,680
01 = LH o4 1l 10,560 12,240 21,680
O JI& 2l 10,560, 000& 10,560
J2dHl(MsAEEY) 16,608 11,160 5,448
201 Let249] 6,048 4,200 1,848
01 At 22l 6,048 4,200 1,848
O MEALEY dRF2 = &H 6,048,000 6,048
202 o4dl 10,560 6,960 3,600
01 = LH o4 1l 10,560 6,960 3,600
O JIg A 10,560, 000& 10,560
2Bt (BtAERIEH) 19,296 19,800 A 504
201 et 7,056 5,880 1,176
01 At 22l 7,056 5,880 1,176
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SN SHMSTSMY A

M HH2IAZH(SHMSHEAL D)
Eel: JI23H(2HMSTEAGA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O SNLE2Z2Y IRFI =l

7,056,000 7,056
202 O4dl 12,240 13,920 A 1,680
01 2UH o1l 12,240 13,920 A 1,680

O Jle 2UWdAbl 12,240,000& 12,240
Jl2dtl(2stAEaelgd) 20,304 18,960 1,344
201 L2l 8,064 6,720 1,344
01 At 22l 8,064 6,720 1,344

O SatAd2elgd gRFE Sl

8,064,000& 8,064
202 oddl 12,240 12,240 0
NIETTEI 12,240 12,240 0

O Jle 2WdAl 12,240,000& 12,240
HRES(2HMSHUEAL L) 200,000 200,000 0
HWEAHANXE(2UMSIEAIE L) 200,000 200,000 0
HWEAHHXE(IISEH) 200,000 200,000 0
702 JISEES 200,000 200,000 0
MNII3HEES 200,000 200,000 0

O MEMEISHES 200,000, 000& 200,000
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